1 I 2 !

NOTES:
1. REFER TO EAW MATERIAL SPECIFICATION 480455 FOR
LABELING AND SHIPPING INSTRUCTIONS.

CASTER PALLET (EAW PART NO. 0006284)~\

3 | 4 ' 5 | 6
REV DESCRIPTION APVD /DATE
A | NEW ISSUE PER DSRWHT3563, SEE DSR RAS
#03-706 MELANIE 6/5/03 6/17/03
B REOVED ROUTS FROM SIDE VIEW RAS
PER ECQWHT2920 MELANIE 7/1/03 7/1/03

16X 1/4-20 X 3/4 SS PH SCREW (EAW PART NO. 1020339) ——
16X 1/4—20 SS FLAT WASHER (EAW PART NO. 150007)
16X 1/4" BLACK SS SPLIT LOCK WASHER (EAW PART NO. 150008) —

4X CASTER (EAW PART NO. 150001)

- (29.83) -— ~ (7.25) =
¥ (2.06) —o=| e
T - 2
‘ | ]
| ]
@|lo ~ T T~ N ®
Q|| ® ®
(29.93)
Q _ _ _ _ _ _ _
o ® ® —
olle S © -
| ]
' | ]

DOCUMENT CONTROL PER SPECIFICATION 4.3.201

ALL DIMENSIONS ARE IN INCHES

THIRD ANGLE PROMECTION | UNLESS OTHERWISE SPECIFIED: | STATUS: PRODUCTION

EASTERN ACOUSTIC WORKS

DATE EEM ONE

MAIN STREET

WHITINSVILLE, MA  D1588 USA

B TOLERANCE IN INCHES APPROVALS
Xx.1  XX&x.03 XXX £01D :
* FRACTI;NS +1/32 * DRAWN MELANIE

6/5/03 [  ASSEMBLY/CASTER

e — PALLET,/FACE /KF730

THIS ORAWING B THE PROPERTY (XXX) = REF DIMS AS 6/17/03 [MANUFACTU RING SPEC|F|CAT|ON]
THS DRAWING 5 THE PROPERTY NO TOLERANCE IMPLIED e

/E%FE%LE E%g%ﬁ{ﬁ%@?ﬁ T.5.C.=THEORETICAL SHARF CORNER JAR 6/18/03 B | sHEer 1 oF 1 SCALE: 170 6
SBPLREEINC B owsgus s covmnes (W90 o0 e | o 1005 [ 0005385 [T B




| ya J “+ | J | L
N OTES . REV DESCRIPTION AF‘VD/DATE
1. CONSTRUCT WITH EXTERIOR GRADE BALTIC BIRCH A | RELEASED TO PRODUCTION FROM REV 3
PLYWOOD. ASSEMBLE USING ADHESIVE 830052. WAS 25,05 AND.4X ABDED 30 RADI PER 5/50/103
PLAIN STEEL HARDWARE COMPONENTS MAY BE USED. O 7 Caa
SEE EAW MATERIAL SPECIFICATION 4B80500.
2. BREAK ALL SHARP EDGES.
27mm
| [ | [ +
l |
/ MODIFIED 4X CASTER B 26.25 u
4X R .25 ALL AROUND | 00 gASEJCNqE%OBA}TETSERQ ENG. 4X ROUT .50 DP
4X 15mm (DISTANCE TO SIDE IS —~— 4X 11.00 ==~ =—2X 2.00
+ 0 DIFFERENT) /~BX R .25 ¢ 4X 3.75
|
- [ I I ‘ - =\
i | BB A / ‘ I
| ]
ol ~ T~ S0 }\—? 9——7
L _ il _ o
|
o|| ® o L1, A
|
(29.93)
0] — — — — — — 28.75 o - — — — — — —  18.50
|
@ @ T @ [e™ _|_?
L _ _ 1L _ _ | Y
©) @_ ________ S —0 | ¢— l
| R 1 [
| |
q i | | | ' ' \ | J
\ DOCUMENT CONTROL PER SPECIFICATION 4.5.201
== 26.25 41X R .50 THIRD ANGLE PROJEGTION | UNLESS UTHERWISE SPECIFIED: | STATUS: PRODUCTION EASTERN ACOUSTIC WORKS
At E;L:ﬁ'ﬁ,fgf QRL'CNHQCHES APPROVALS DATE Emw WHITINSVILLE. MA -~ G1588 LISA
X £+ XXX +£.010 | DRAWN: TITLE:
- 29.93 B $ FRACIONG 4152 MR 2/13/05 PALLET /UNPAINTED,/FAGE /
THIS DRAWING IS THE PROPERTY (X.XX) = REF DIMS CriEre: KFH 5/29/03 KF730
OF EAW AND <oHALL NAT BE NO TOL ANCE IMPLIED ES ENG.
gﬁﬁ&%?ﬁiﬁmﬁﬁ T.5.C.=THEORETICAL SHARF CORNER| BF 5/28/03 B SHEET 1 OF 1 SCALE: 1 TO 6
ggAI'I'LI'I_:EI\éRAAJwﬁHNgI?IZATIUN DO NOT DIMENS_II%NSEIEAmSEI%%ATLERLINES MFG ENG: LSM 5/28/0.3 DRAWING NUMBER: 0006284 REVISION A
| 5 2 | A | = | ] VELLUM




1

| 3

NOTES:

1. SPECIFY ON DRAWING AS FOLLOWS:

CASTER MOUNTING PATTERN

ENG SPEC

150C001ES

2. REFER TO CABINET/PALLET DRAWING
FOR ORIENTATION & LOCATION.

3.

USE EQUIVALENT STAINLESS STEEL

HARDWARE FOR WP APPLICATIONS.

4.

RECOMMENDED MINIMUM EDGE

CLEARANCE FOR CASTER LOCATION
(PREVENT SWIVEL WHEEL FROM
PROTRUDING)

5.44

2 PER ECO 55864 S35 6/3/02

REV DESCRIPTION APVD/DATE
DELETED 2X 3.44 DIMENSIONS AND
D CHANGED COUNTERSINK FROM .50 TO RS 10/4-/01
.56 AS SPECIFIED PER ECO 5403
SS 10/4/01
UFDATED NQTE 3, ADDED FLUSH TO OR
E BELOW SURFAGE TQ 15mm AND 1Bmm PSN
CALL OUT PER ECO 5496 SS 3/8/02 3/15/02
UFPDATED CBORE HOLES FROM 525 .B1 TO
F @ .56 SEE SHEET 1, UPDATED T—NUT PSN
HOLES FROM & .B1 T0 ¢.31 SEE SHEET 6/3/02

3.44 SEE NOTE 4 —f== —
f————————w=t— 9 37/5
A
SEE NOTE 4
A
Y
!
3.125

15mm: 4X 1/4-20 x 5/16 T—-NUT 113017
FLUSH TO OR BELOW SURFACE FARSIDE

4X CSK B2" TO @ .56 NEARSIDE

18mm OR GREATER: 4X 1/4-20 X 9/18
RIVNUT 113037 FLUSH TO OR BELOW

SURFACE FARSIDE 4X CSK 82° TO @ .56
NEARSIDE.

DOCUMENT CONTROL PER SPECIFICATION 4.5.201

THIRD ANGLE PROJECTION UNLESS OTHERWISE SPECIFIED: : EASTERN ACOUSTIC WORKS
ALL DIVENSIONS ARE IN INGHES |>TATYS PROTOTYPE Ew e e o
B @ TOLERANCE IN INCHES APFROVALS DATE WHITINSVILLE, MA ~ O1588 LISA
X = .1 XX £ .03 XXX +£.010|DRAWN: -
FRACTIONS %1/32 F LECOUR 7/21/99
CTONS +1/: mmn- CASTER WHEEL MOUNTING
XXX} = REF DIMS " KFH 8/13/99
3 v b Syl PRaT B NGB ENE D S /13/
ﬁﬁ%ﬁﬁ?ﬁ%ﬂﬁmﬁ T.5.C.=THEORETICAL SHARF CORNER JAR 8/13/99 | A | SHEET 1 0F 2 SCALE: 1 TO 2
WRITTEN AUTHORIZATION. DO NOT| DIMENSIONS ACROSS CENTERLINES [MEG ENG: TRAWING NOVEER: REVISON:
SCALE DRAWING, T0 BE SYMMETRICAL DBD 8/18/99 150001ES F
1 I 2 | 3 VELLUM




